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Q1

Q2

(a)

(b)

(@)

(b)

The current entering the positive terminal of a device is i(f) = 10e** mA and the
voltage across the device is v(f) = 10 di/dt V.

(1) Determine the charge delivered to the device between =0 and r=2s.

(4 marks)
(i) Calculate the power absorbed at =2 s.

(4 marks)
(iii)  Find the energy absorbed in 2 s.

(4 marks)

By using passive sign convention and Kirchhoff’s Laws, determine /; in Figure

Q1(b).

(4 marks)

Find the voltage and the current values across each resistance for the circuit shown
in Figure Q2(a) if the power dissipated by Ry is 30 W.
(12 marks)

Referring to Figure Q2(b),

1) Find the value of /; and /5.
(6 marks)

(i1) Caiculate the power of each resistor in the circuit and classify whether each

resistor is absorbing or delivering power.
(4 marks)
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Q3

Q4

(a)

()

(a)

For the circuit shown in Figure Q3(a),
(1) Determine the total current supplied by the dependent source that exists in
the circuit.
(3 marks)
(ii) Calculate the current flowing through the 20 kQ resistor using the current
divider rule.
(2 marks)
(iii)  Analyze the power, P, dissipated in the 20 kQ resistor.
(2 marks)

Based on the circuitl in Figure Q3(D),

1) Determine the value of node voltages of Vi, V2 and V3 by using nodal

analysis.
(13 marks)

(i)  Calculate the value of v, and .

(6 marks)
Based on the circuit in Figure Q4(a),
(i) Compute the value of iz and Vo.

(9 marks)
(i1) Determine the voltage drop across the 200 Q resistor.

(5 marks)
(ii1)  Find the power supplied by the 25 V source.

(4 marks)
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(b) The full-wave rectified sine wave shown in Figure Q4(b) is supplied to a load with
a resistance value, R =6 Q.

(1) Determine the Root Mean Square (RMS) value of this waveform.
(15 marks)

(i1) Calculate the average power dissipated in the 6 Q resistor.
(3 marks)

- END OF QUESTIONS -
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Figure Q1(b)
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Figure Q3(b)
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